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HIFARORER |00 mi% 187 55Kk BETRARORER | ookn/m %182 5 R 8
ADKES +F% |HOAES +HZ [AOKRES +FH%E |NOAES +HZ ADKES +FE% |HOAES +HEZ |AOKES +F% |HOAES 1EHZ
DILRA  OBS |[DIBEX  0Bx |OBBRK 0B |03BEX 0B DILBER OBES [03BBA 0B |OIBBK 0B |O3BEX 0B
NHLO NHLO NHLO NHLO nNHLO nNHLO nNHLO nNHLO
(kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m) (kN/m?) (m)
1~ 2 13437 100 | 10000  1.00 - - 1306 | 244
2 ~ 3 13437 1.00 | 100.00  1.00 - - 13.06 | 2.44
4 ~ 5 - - - - - - - -
5 ~ 6 - - - - - - - -
7 ~8 15098  1.00 | 10000  1.00 - - 16.05  3.00
8 ~ 9 - - 10000  1.00 - - 15.81 2.96
10 ~ 11 - - 8473  1.00 - - 1451 2.71
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